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1. -!/P)B"J~{~,\"C1!lR~ , ~!/p)Ef\]m*5!\!tE : (A)lEt* (B)!I).VJ\ (C)::f~ (D)::f~5E 0 

2. i&1ff~¥,f;ii!U~§;;Ef\]t¥l:t::l mm5E~71jfoIfjti1i!E : (A)1I.fltt.~ (B)lJrt,n~~0 

(C)tSJ~JfJlf! (D)tSJ1~'~. 0 

3. 	~O* X~tLiJif~J:jj~ , fffi~¥~ X~JLiJ~:I!:~~& I ~utt{~ : (A)X ~tL~~~~ffl 
T~~ (B)X ~:tz~,~~m -.tJt (C)X ~J"Z~~~~jzJftt.7t (D) X ~t~J~)j!j..t~:tJofffif~~J~ 

~fl1t.7t 0 

4. 	 1lf.J;fpJT1~/F~ I Ef:nJ~{.f~BkJ&~pJTtJ r~~:>JtitBkJ~1c ' ffli!S : (A)flf!x')[* (B) 

pJT1~~jz* (C)7&1~~* (D)5t~C~* 0 

5. 	 !S7~lt:!froJ·-~m7j(~ , ¥~:tJO~{@J.{lLq3~£BkJ)J13"B~ , OJ tJ1&~BkJtJ.~cl1BkJ 
~. ' §iJLffliL~tJ EJ37&1i:ZBkJ : (A)iI~~ti1iltJ~1-t~ (B)iI~~¥&~1Hl!~~* (C)iI~~ 
~1i:* (D)51~5&~ 0 

6. 	 e~o~>J(~J~!SD=40-3P '1~~~~~!sS =20 + P 'EI&J&M~1Jif~5E1£ 8 JL~ , 
&Um;t~~~ : (A)1~:-f&* (B)1~i&!~>J( (C)1~~;f§~ (D)~m 0 

7. 	 ;;E~iI:!li~{£~il:OJfjE~JjZ:9~ , lIt~7f\ : (A)~j£:~)~jl3W (B)~5Jm*)E7J-fUm 
(C)*{~ma~::rBkJ±'~1J~ (D)~5JE[;~y 0 

8. 	 1¥;;'tiwjtHi3ij~BkJfJ!~~: (A) (§5}lHffitB~§~ ~ (§5~tH (B) ~imjtBtij~ , 1~iJitf1 

(C) 	~imffitHt~~ , '(~~~$ (D) 1~im~H~3§~ ,~~~* 0 

9. 	 j~1J~!±I3~Jj(Phillips curve)~~7f\~**~fortBkJ;m1~: (A) ~* (B) imjl(~ij& 
¥ (C) IJtL)5&$ (D) fU$ 0 

10. 	 r fI:>Km7t J W r WZ**t1J J EtJimji(B~§~: (A) f1~?JJ1IBkJ~.:-froJ ' ffpJT1~EtJ 
~fif§[OJ (B) f1~O/]1IBkJ~.f§[OJ , ffpJT1~BkJ~./F[OJ (C) lt~1I!MpJT14BkJl}. 

tSJfFj [t1] (D) ft~O/]{I!MpJT1~BkJ~.tSJ/F[o] 0 
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1. 	 ~~l1t~~ (deadweight loss) 2. ~~~~tl~ (producer's surplus) 

3. 	 :sJb{*f5[ (Gini coefficient) 4. ~JU~~~ (economies of scale) 

5. 	 [rJf~BkJ;r~ (paradox of thrift) 6. M~mY!¥ (risk averse) 

.::: 	gt.~ro~~ (40 5t ,~~ 10 5t ) 

1. 	 f~j~5P1.~Jn{5~.~B:Er~ (Xo' Yo) , ;fi X ~£flfirT:~ (.PJT1~~ Y fflj«c1If!~l~::f 

~) , X ~:J:1~~t ' g"~tiil~~ X ftij«cBkJg{-t~~~~'pJTt~)fj{;W:~~ 0 

2. 	 ;'ft~im&:1ff1J1ifiijB~~jffl?EJ~~ q = K L '&:1ffii1.f~~ P = 10 ' PL == 5 ' PK == 5 ' 

*~~ q == 100 ~{lLEz1ffii8kJ~1(£~j~lpt* slE ~tli1§Jt8J3 0 

3. 	 1~~~~~Jt¥m:I:J1:tt:~ 500 *Jfiftij , ~~*J1~f[{ijBkJ*WJ~~PX*~~~ 
LTC == 0.1 q3 -10 q2 + 400 q , 8~[]m:l;J1im*~~1.& P =30150 - Q 0 


*lltii£*8kJ*WJ¥-J1~r1.;f~ jft ~ttIJmf!Ej 0 


C =200 + 0.8Yd 

1==100 G=300 T == 125 

jtcp , Y 1.&~te (real GDP); Yd 1.&OJ;t@GPJTt~ ; I ~1~jtJttfj ; 

G ~iEj{Jffxtfj ; T ~fJ3.l5t 0 

~~m:f:J1it~~3tlJT: 

a) *m~rm6'pm~B"1¥-J~r~te (Y)? 

b) *m~~~H~rffj$ , iA ~ is? 


